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1. µÛà ¸ÛÁõ¾Û ÜÅÛ. ¶Ûä× ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 
  

þéùÈÛÛ× ` Ü¾ÛÅÛïõ©ÛÛé ` 
4,050, 12% ¶ÛÛ ¸Ûóéºõ. ÉÛéÁõ þùÁéõïõ 
` 100¶ÛÛé ©ÛéÈÛÛ  

 
4,05,000

¸ÛÛ–Û¦øà 
›÷¾Ûà¶Û-¾ÛïõÛ¶Û 

1,35,000
8,10,000

10,800 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 
100 ¶ÛÛé …éïõ ©ÛéÈÛÛ 

 
10,80,000

ýÛ×ªÛÛé 
ÁõÛéïõÛ¨ÛÛé : 

10,80,000

›Û¾Ûà¶Û•ÛàÁõà ¸ÛóàÜ¾ÛýÛ¾Û 
¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 

1,35,000
3,02,500

10% ¶Ûà ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà 
(¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¶ÛÛ× ÁõÛéïõÛ¨ÛÛé) 

 
2,02,500

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û 
10% ¶ÛÛ Ü¦ø¼Ûê˜ÛÍÛÙ 

4,45,400
2,70,000

15% ¶ÛÛ× ¾Û¶Û ÜÅÛ. ¶ÛÛ× Ü¦ø¼Ûê˜ÛÁõ (þùÛ.Üïõ. 
` 1,35,000) 

 
1,21,500

ïõÛ¾ÛþùÛÁõ ¶ÛºõÛ½ÛÛ•Û ½Û×¦øÛéÇ  54,000 Í¤øÛéïõ 4,05,000
ÅÛé¨ÛþùÛÁõÛé 2,78,100 þéùÈÛÛþùÛÁõÛé 2,43,000
¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø 2,02,500 ÁõÛéïõ¦ø/¼Ûêïõ 1,08,000
 …•ÛÛŠ¬Ûà ˜ÛæïõÈÛéÅÛ ”Û˜ÛÛÙ 40,500
 ¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÛÙ 27,000
 31,72,500  31,72,500

  

  µÛà ÉÛÛ×Ü©Û ÜÅÛ. …Û ï×õ¸Û¶Ûà¶ÛÛé µÛ×µÛÛé ”ÛÁõàþùÈÛÛ ¾ÛÛ•Ûé ™öé. ›÷é ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà µýÛÛ¶Û¾ÛÛ× ÅÛˆ¶Ûé 
¸ÛÛ–Û¦øà¶Ûà •Û¨Û©ÛÁõà ïõÁõÈÛÛ¶Ûà ™öé : 

 (1) ›÷¾Ûà¶Û-¾ÛïõÛ¶Û¶Ûà ÐüÛÅÛ¶Ûà ¼Û›ÛÁõÝïõ¾Û©Û ©Ûé¶Ûà ˜ÛÛé¸Û¦éø Ýïõ¾Û©Û ïõÁõ©ÛÛ× ¼Ûé •Û¨Ûà ™öé. 
 (2) ýÛ×ªÛÛé Š¸ÛÁõ 20% –ÛÍÛÛÁõÛé ›÷ÄõÁõà ™öé. 
 (3) Í¤øÛéïõ¾ÛÛ× ` 54,000 ¶ÛÛ Í¤øÛéïõ¶Ûä× ïõÛ×ˆ Œ¸Û›÷é ©Ûé¾Û ¶Û¬Ûà. 
 (4) ï×õ¸Û¶Ûà¶ÛÛé ™öéÅÅÛÛ× ªÛ¨Û ÈÛÌÛÙ¶ÛÛé 50% ÅÛé”Ûé …ÛÈÛïõÈÛéÁõÛé •Û¨ýÛÛ ¸ÛÐéüÅÛÛ×¶ÛÛé ¶ÛºõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©ÛÛé. 

½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ •Û¨ÛÛé  : 

   ` 
2010 – 2011 12,15,000 
2011 – 2012 16,20,000 
2012 – 2013  18,90,000 

 (5) …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 10% ™öé. 
 (6) ¸ÛÛ–Û¦øà¶Ûà Ýïõ¾Û©Û …ÜµÛïõ ¶ÛºõÛ¬Ûà ªÛ¨Û ÈÛÌÛÙ¶Ûà ”ÛÁõàþùà ›÷é¤øÅÛà •Û¨ÛÈÛÛ¶Ûà ™öé. 
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 The Balance Sheet of Param Ltd. as on 31-3-2013 is as under : 

Liabilities ` Assets ` 

4,050, 12% Pref. Shares 
each of ` 100 

 
4,05,000

Goodwill 

Land and Building 

1,35,000

8,10,000

10,800 Equity Shares each 
of ` 100 

 
10,80,000

Plant 

Investments : 

10,80,000

Securities Premium 

Profit and Loss Account 

1,35,000

3,02,500

10% Government Securities 
(Investments of Provident Fund) 

 
2,02,500

General Reserve 

10% Debentures 

4,45,400

2,70,000

15% Debentures of Man Ltd. 
(Face Value ` 1,35,000) 

 
1,21,500

Workers’ Profit Sharing Fund 54,000 Stock 4,05,000

Creditors 2,78,100 Debtors 2,43,000

Provident Fund 2,02,500 Cash and Bank 1,08,000

 Prepaid expenses 40,500

 Preliminary expenses 27,000

 31,72,500  31,72,500
   

  The Shanti Ltd. wants to purchase the business. Considering the following 
information calculate the Goodwill. 

 (1) The market value of Land and Building is twice the book value. 

 (2) The plant requires 20% depreciation. 

 (3) The stock includes certain useless items costing ` 54,000 having no scrap value. 

 (4) The profits (before providing 50% tax) of the last three years are as under : 

   Calculate on the basis of weighted average. 

 ` 

2010 – 2011 12,15,000 

2011 – 2012 16,20,000 

2012 – 2013  18,90,000 

 (5) The expected rate of return of company is 10%. 
 (6) The goodwill of the company for this purpose is agreed to be valued at 3 years 

purchases of the super profit basis. 
…¬ÛÈÛÛ/OR 
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 Áõà¾ÛÛ ÜÅÛÜ¾Û¤éø¦ø¶Ûä× ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
  

›÷ÈÛÛ¼ÛþùÛÁõà…Ûé ` Ü¾ÛÅÛïõ©ÛÛé ` 
` 100¶ÛÛé …éïõ …éÈÛÛ ¸ÛæÁõÛ ½ÛÁõ¸ÛÛˆ 
ˆÜîÈÛ¤øà ÉÛéÁõ 

 
4,00,000

¸ÛÛ–Û¦øà 
¾ÛïõÛ¶Û 

2,50,000
3,75,000

` 10 ¶ÛÛé …éïõ …éÈÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ, 
ÉÛéÁõþùà¥ø ` 6 ½ÛÁõ̧ ÛÛˆ  

 
3,00,000

¸ÅÛÛ¶¤ø …¶Ûé ¾ÛÉÛà¶ÛÁõà 
ÁõÛéïõÛ¨ÛÛé : 

8,00,000

12% ¶ÛÛ ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ ¸ÛæÁõÛ ½ÛÁõ̧ ÛÛˆ 3,00,000 (i) 10%¶Ûà ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà¾ÛÛ× 
ÁõÛéïõÛ¨Û 

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û 1,50,000  (þùÛ.Üïõ. ` 1,50,000) 1,44,000
¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 2,50,000 (ii) •ÛÛíé¨Û ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõ¾ÛÛ× ÁõÛéïõÛ¨Û 1,40,000
14% ¶ÛÛ Ü¦ø¼Ûê˜ÛÁõ 3,50,000 þéùÈÛÛþùÛÁõÛé 1,80,000 
ÅÛé¨ÛþùÛÁõÛé 2,00,000 –ÛÛ. …¶ÛÛ.                      9,000 1,71,000
þéùÈÛàÐæ×ü¦øà 50,000 Í¤øÛéïõ 1,25,000
ïõ¾ÛÙ˜ÛÛÁõà …ïõÍ¾ÛÛ©Û ÈÛÇ©ÛÁõ º×õ¦ø      50,000 ÅÛé¨ÛàÐæ×ü¦øà 

ÁõÛéïõ¦ø-¼Ûêïõ 
23,000
15,000

 Ü¦ø¼Ûé¶˜ÛÁõ ÈÛ¤øÛÈÛ 7,000
 20,50,000  20,50,000

 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 
 (1) ¾ÛïõÛ¶Û¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û ` 6,00,000 ™öé …¶Ûé ¸ÅÛÛ¶¤ø ¾ÛÉÛà¶ÛÁõà¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û ˜ÛÛé¸Û¦éø Ýïõ¾Û©Û 

ïõÁõ©ÛÛ× 20% …Ûé™öà ™öé. 
 (2) Í¤øÛéïõ¶Ûà Ýïõ¾Û©Û¾ÛÛ× ` 25,000 ¶ÛÛé –Û¤øÛ¦øÛé ïõÁõÈÛÛ¶ÛÛé ™öé. 
 (3) ÁõÛéïõÛýÛéÅÛà ¾Ûæ¦øà ¸ÛÁõ ÍÛÛ¾ÛÛ¶ýÛ …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 12% •Û¨ÛÛýÛ ™öé. 
 (4) 50% ÅÛé”Ûé …ÛÈÛïõÈÛéÁõÛé ¼ÛÛþù ïõýÛÛÙ ¸Û™öà¶ÛÛé ™öéÅÅÛÛ× ªÛ¨Û ÈÛÌÛÙ¶ÛÛé ÍÛÁéõÁõÛÉÛ ÈÛÛÜÌÛÙïõ ¶ÛºõÛé  

` 1,95,000 ™öé. 
   ï×õ¸Û¶Ûà¶ÛÛ …ÜµÛïõ ¶ÛºõÛ¶Ûà ªÛ¨Û •Û¨Ûà (3 ÈÛÌÛÙ¶Ûà ”ÛÁõàþùà) Áõïõ¾Û¶Ûé …ÛµÛÛÁéõ ¸ÛÛ–Û¦øà¶Ûà 

Ýïõ¾Û©Û ÉÛÛéµÛÛé. 
 

 The Balance Sheet of Rima Ltd., as on 31.3.2013 is as under : 
Liabilities ` Assets ` 

Equity Shares of ` 100 each 
fully paid 

 
4,00,000

Goodwill 
Building 

2,50,000
3,75,000

Equity shares of ` 10 each, 
` 6 paid-up per share 

 
3,00,000

Plant and Machinery 
Investment : 

8,00,000

12% Pref. Share fully paid 3,00,000 (i) 10% Government Security 
General Reserve 1,50,000  (Face Value ` 1,50,000) 1,44,000
Profit and Loss A/c. 2,50,000 (ii) Shares of Subsidiary company 1,40,000
14% Debentures 3,50,000 Debtors 1,80,000 
Creditors 2,00,000 – Bad Debts Res.         9,000 1,71,000
Bills payable 50,000 Stock 1,25,000
Workmen accident 
compensation fund 

 
50,000

Bills Receivable 
Cash and Bank 

23,000
15,000

 Debenture Discount 7,000
 20,50,000  20,50,000
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 Other Information : 
 (1) The market value of building is ` 6,00,000 and the market value of Plant and 

Machinery is 20% less than its book value. 
 (2) It is decided to reduce the value of stock by ` 25,000. 
 (3) The expected rate of return on capital employed is 12%. 
 (4) The average annual profit of the company after 50% tax for the last three years is 

` 1,95,000. 
   Calculate the value of goodwill of the company on the basis of three years 

purchase of its super profit. 
 
2. (A) ÉÛéÁõ ¾ÛæÅýÛÛ×ïõ¶Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ÍÛ¾Û›ÛÈÛÛé. 7 
  Discuss factors affecting value of shares.  

…¬ÛÈÛÛ/OR 
  ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà …Û×©ÛÜÁõïõ Ýïõ¾Û©Û, ¼Û›ÛÁõ Ýïõ¾Û©Û ©Û¬ÛÛ ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û¶ÛÛ ”ýÛÛÅÛ ÍÛæªÛ¶Ûà ¾Ûþùþù¬Ûà 

ÍÛ¾Û›ÛÈÛÛé.  
  Discuss the concepts of Intrinsic value, market value and fair value of Equity 

Share with the help of formula. 
 

 (B) •ÛÛýÛªÛà ÜÅÛ. ¶Ûä× 31-3-2013¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 
   

›÷ÈÛÛ¼ÛþùÛÁõà…Ûé ` Ü¾ÛÅÛïõ©ÛÛé ` 
` 100 ¶ÛÛé …éïõ …éÈÛÛ 5600 
ˆÜîÈÛ¤øà ÉÛéÁõ ¸ÛæÁõÛ ½ÛÁõ¸ÛÛˆ 

 5,60,000 ¸ÛÛ–Û¦øà 
›÷¾Ûà¶Û-¾ÛïõÛ¶Û 

70,000
3,50,000

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé 42,000 ¸ÅÛÛ¶¤ø-ýÛ×ªÛÛé 2,80,000
5% ¶ÛÛ× Ü¦ø¼Ûé¶˜ÛÁõ 1,40,000 ˜ÛÛÅÛä Ü¾ÛÅÛïõ©ÛÛé 1,40,000
ÅÛé¨ÛþùÛÁõÛé 84,000 Ü¦ø¼Ûé¶˜ÛÁõ ÈÛ¤øÛÈÛ 7,000
¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø 14,000  
ïõÛÁõà•ÛÁõ ¶ÛºõÛ½ÛÛ•Û ½Û×¦øÛéÇ 7,000  
 8,47,000  8,47,000

  ¶Ûà˜Ûé¶Ûà ÈÛµÛÛÁõÛ¶Ûà ÜÈÛ•Û©ÛÛé µýÛÛ¶Û¾ÛÛ× ÅÛˆ ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõ¶Ûà …Û×©ÛÜÁõïõ …¶Ûé ¼Û›ÛÁõÝïõ¾Û©Û ÉÛÛéµÛÛé. 
  (1) ï×õ¸Û¶Ûà¶ÛÛé ™öéÅÅÛÛ× ªÛ¨Û ÈÛÌÛÙ¶ÛÛé ïõÁõ¼ÛÛþù ïäõÅÛ ˜ÛÛé””ÛÛé ¶ÛºõÛé ` 3,36,000. …Û ›÷ ¸ÛóïõÛÁõ¶ÛÛ 

µÛ×µÛÛ¾ÛÛ× …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ 10% •Û¨ÛÛýÛ ™öé. 
  (2) ¸ÛÛ–Û¦øà¶Ûà Ýïõ¾Û©Û ` 1,13,400 •Û¨ÛÈÛÛ¶Ûà ™öé. 
  (3) ›÷¾Ûà¶Û …¶Ûé ¾ÛïõÛ¶Û¶Ûà Ýïõ¾Û©Û ` 3,78,000 •Û¨ÛÈÛÛ¶Ûà ™öé. 
  (4) ¼ÛÛïõà¶Ûà Ü¾ÛÅÛïõ©ÛÛé¶Ûà Ýïõ¾Û©Û ˜ÛÛé¸Û¦éø þùÉÛÛÙÈýÛÛ ¾Ûä›÷¼Û¶Ûà •Û¨ÛÈÛÛ¶Ûà ™öé. 
 

  Balance Sheet of Gayatri Co. Ltd. as on 31-3-2013 is as follows : 
Liabilities ` Assets ` 

5600 Equity shares of ` 100 
each fully paid 

 
5,60,000

Goodwill 
Land and Building 

70,000
3,50,000

Profit and Loss A/c. 42,000 Plant and Machinery 2,80,000
5% Debentures 1,40,000 Current Assets 1,40,000
Creditors 84,000 Discount on Debentures 7,000
Provident Fund 14,000  
Workmen’s Profit  
Sharing Fund 7,000  
 8,47,000  8,47,000
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   Ascertain the Intrinsic value and Market value of Company’s share after 
taking into account the following additional information : 

  (1) Company’s total net profits for the last three years amounted to ` 3,36,000. 
The expected rate of return in this type of business is considered to be 
10%. 

  (2) Goodwill is to be valued at ` 1,13,400. 
  (3) The value of Land and Building is to be considered ` 3,78,000. 
  (4) The value of the remaining assets is to be taken at book value. 

…¬ÛÈÛÛ/OR 
 (B) …éïõ ï×õ¸Û¶Ûà¶Ûä× 31-3-2013¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
   

¾Ûæ¦øà-þéùÈÛÛ× ` Ü¾ÛÅÛïõ©Û-ÅÛé¨ÛÛ× ` 

ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà : ¾ÛïõÛ¶Û 6,00,000

A – ` 100 ¶ÛÛé …éïõ …éÈÛÛ ÉÛéÁõþùà¥ø 
` 60 ÅÛé”Ûé ½ÛÁõ̧ ÛÛˆ 6,000  ÉÛéÁõ 3,60,000

ýÛ×ªÛÛé 
þéùÈÛÛþùÛÁõÛé 

5,25,000
4,80,000

B – ` 10 ¶ÛÛé …éï õ…éÈÛÛ  ¸Ûæ¨ÛÙ 
½ÛÁõ¸ÛÛˆ 30,000 ÉÛéÁõ 3,00,000

Í¤øÛéïõ 
ÁõÛéïõ¦ø ÜÍÛÅÛïõ 

75,000
15,000

12% ¶Ûà ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ¾Ûæ¦øà 3,00,000 ÉÛéÁõ ÈÛ¤øÛÈÛ 15,000

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û 1,20,000  

–ÛÍÛÛÁõÛ º×õ¦ø :  

  ¾ÛïõÛ¶Û 45,000  

  ýÛ×ªÛÛé     75,000 1,20,000  

˜ÛÛÅÛä þéùÈÛÛ× 5,10,000  
 17,10,000  17,10,000

  ï×õ¸Û¶Ûà¶Ûà ¸ÛÛ–Û¦øà ` 2,40,000 ¶Û‘õà ¬Ûˆ ™öé. ¾ÛïõÛ¶Û¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û ` 7,50,000 ™öé. ýÛ×ªÛÛé¶Ûà 
¼Û›ÛÁõ Ýïõ¾Û©Û ©Ûé¶Ûà ˜ÛÛé¸Û¦éø Ýïõ¾Û©Û ïõÁõ©ÛÛ× 20% …Ûé™öà ™öé. 

   ¼Û×¶Ûé ¸ÛóïõÛÁõ¶ÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà …Û×©ÛÜÁõïõ Ýïõ¾Û©Û ÉÛÛéµÛÛé.    

  Following is the Balance Sheet of a company as on 31-3-2013. 
Liabilities ` Assets ` 

Equity Shares Capital : Building 6,00,000
A – 6,000 shares of ` 100 
each, ` 60 paid up 3,60,000

Machinery 
Debtors 

5,25,000
4,80,000

B – 30,000 fully paid up 
shares of ` 10 3,00,000

Stock 
Cash 

75,000
15,000

12% Preference Shares 3,00,000 Discount on Shares 15,000
General Reserve 1,20,000  
Depreciation Fund :  
 Building 45,000  
 Machinery     75,000 1,20,000  
Current Liabilities 5,10,000  
 17,10,000  17,10,000

   Goodwill is determined at ` 2,40,000. The market value of buildings is               
` 7,50,000. The market value of machinery is 20% less than its book value. 

   Find out the Intrinsic value of both types of equity shares. 
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3. (A) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 7 
  Write short note on : 
  (1) ¼Ûé¶ïõ¾ÛÛ× ïõÛýÛþùÛ ¸Ûó¾ÛÛ¨Ûé¶Ûä× …¶ÛÛ¾Û©Û ½Û×¦øÛéÇ 
    Statutory Reserve Fund in Bank. 
  (2) ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà…Ûé¶Ûä× ÈÛÇ©ÛÁõ 
    Rebate of Bills discounted. 
     …¬ÛÈÛÛ/OR 
 ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà µÛà …ÛÍ¬ÛÛ ¼Ûé¶ïõ ÜÅÛÜ¾Û¤éø¦ø¶Ûä× ©ÛÛ. 31-3-2013 ¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ× 

ÈÛÌÛÙ¶Ûä× “ºõÛé¾ÛÙ-¼Ûà” ¾ÛÛ× ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÛé : 
ÜÈÛ•Û©Û ` 

ïõ¾ÛÛýÛéÅÛ ÈýÛÛ›÷ 32,00,000
ÍÛ×˜ÛÛÅÛ¶Û ”Û˜ÛÛÙ 10,40,000
…¶ýÛ …ÛÈÛïõÛé 3,20,000
¬ÛÛ¸Û¨ÛÛé 8,00,000
”Û˜ÛëÅÛ ÈýÛÛ›÷ 12,80,000
›Ûé•ÛÈÛÛˆ…Ûé …¶Ûé …ÛïõÜÍ¾Ûïõ©ÛÛ…Ûé 2,40,000
•ÛýÛÛ ÈÛÌÛÙ¶Ûà ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©ÛÛ¶Ûà ›÷¾ÛÛ ¼ÛÛïõà 6,40,000

  ïõÛýÛþùÛ ¾Ûä›÷¼Û …Ûé™öÛ¾ÛÛ× …Ûé™öà ›÷ÄõÁõà Áõïõ¾Û ïõÛ¶Ûæ¶Ûà …¶ÛÛ¾Û©Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¶Ûà ™öé. 
 From the following information, prepare Profit and Loss A/c. (Form ‘B’) for the year 

ending on 31-3-2013 for the Astha Bank Ltd. : 
Particulars ` 

Interest earned 32,00,000
Operating expenses 10,40,000
Other income 3,20,000
Deposits 8,00,000
Interest expended 12,80,000
Provisions and Contingencies 2,40,000
Credit Balance of Last Year’s P & L A/c. 6,40,000   

  Minimum necessary amount as per the Act is to be transferred to Statutory 
Reserve Account. 

 

 (B) ËÛà ÜÈÛ¶ÛÛéþù½ÛÛˆ ÍÛé¶¤ÖøÅÛ ¼Ûé¶ïõ …Ûéºõ ˆÜ¶¦øýÛÛ¶ÛÛ …éïõ •ÛóÛÐüïõ ™öé. ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ 
©Ûé¾Û¶ÛÛ ¶ÛÛ¾Ûé ÅÛÛé¶Û ”ÛÛ©Ûé ` 3,60,000¶Ûà …¶Ûé …ÛéÈÛÁõ¦ÖøÛ¹¤ø ”ÛÛ©Ûé ` 1,80,000¶Ûà ¼ÛÛïõà ™öé, ›÷é 
…¶Ûä’õ¾Ûé Í¤øÛéïõ ©Û¬ÛÛ ÉÛéÁõÛé¶ÛÛ ©ÛÛÁṏ Û ÍÛÛ¾Ûé ¾Û×›æ÷Áõ ïõÁéõÅÛ ™öé. ËÛà ÜÈÛ¶ÛÛéþù½ÛÛˆ¶Ûà ¶ÛÛ¨ÛÛïõàýÛ ÜÍ¬ÛÜ©Û 
ÉÛ×ïõÛÍ¸Ûþù ™öé. ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ÈÛÛÜÌÛÙïõ 12% ÅÛé”Ûé ÈýÛÛ›÷ •Û¨ÛéÅÛ ™öé. 7 

   ©ÛÛ. 2-4-2013¶ÛÛ ÁõÛé›÷ ¼Ûé¶ïéõ Í¤øÛéïõ ©Û¬ÛÛ ÉÛéÁõÛé¾ÛÛ×¬Ûà ` 1,20,960 ÈÛÍÛæÅÛ ïõýÛÛÙ, šýÛÛÁéõ 
¼ÛÛïõà ÁõÐéü©Ûà Áõïõ¾Û ¸Ûé¤éø ÄõÜ¸ÛýÛé 50 ¸ÛíéÍÛÛ ÍÈÛàïõÛÁõà ”ÛÛ©Ûä× ¼Û×µÛ ïõýÛäÚ. 

   ¼Ûêïõ¶ÛÛ ˜ÛÛé¸Û¦éø ¶Ûà˜Ûé¶ÛÛ× ”ÛÛ©ÛÛ× ©ÛíéýÛÛÁõ ïõÁõÛé :    
  (1)  ËÛà ÜÈÛ¶ÛÛéþù½ÛÛˆ¶Ûä× ”ÛÛ©Ûä× (2) ÈýÛÛ›÷-Š¸ÛÅÛïõ ”ÛÛ©Ûä×. 
 

  Mr. Vinodbhai is a customer of Central Bank of India. On 31-3-2013 his loan 
account shows a balance of ` 3,60,000 and overdraft account ` 1,80,000 
sanctioned against securities of stocks and shares respectively. The financial 
position of Mr. Vinodbhai is doubtful. The interest is charged @ 12% p.a. for the 
year ended 31st March, 2013. 

   On 2-4-2013, bank recovered ` 1,20,960 from stocks and shares and 
accepted 50 paise in a rupee for the balance amount and settled the account. 

   Prepare the following accounts in the books of the bank. 
  (1) Mr. Vinodbhai’s Account   (2)    Interest Suspense Account 

…¬ÛÈÛÛ/OR 
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 (B) ¸Ûó•ÛÜ©Û ¼Ûêïõ ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷¶ÛÛ ïõÛ˜ÛÛ ÍÛÁõÈÛíéýÛÛ¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¼ÛÛïõà…Ûé 
ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 

   

ÜÈÛ•Û©Û ` 

”ÛÁõàþéùÅÛà …¶Ûé ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà…Ûé 11,10,000

ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà…Ûé ¸ÛÁõ¶Ûä× ÈÛÇ©ÛÁõ (©ÛÛ. 1-4-2012) 18,500

¾ÛÇéÅÛ ÈýÛÛ›÷-ÈÛ¤øÛÈÛ 1,85,000

 

  ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà…Ûé¶Ûä× ¸Ûè¬Û‘õÁõ¨Û ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà þùÉÛÛÙÈÛé ™öé : 
   

Ðæ×ü¦øà ÅÛ”ýÛÛ 
©ÛÛÁõà”Û 

Ðæ×ü¦øà¶Ûà 
¾Ûäþù©Û 

Ðæ×ü¦øà¶Ûà Áõïõ¾Û  
(`) 

ÈÛ¤øÛÈÛ¶ÛÛé 
þùÁõ 

22-01-2013 3 ¾ÛÛÍÛ 2,70,100 10% 

07-02-2013 3 ¾ÛÛÍÛ 5,40,200 9% 

09-02-2013 4 ¾ÛÛÍÛ 2,99,700 8% 
  

  ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà…Ûé¶ÛÛ ÈÛÇ©ÛÁõ¶Ûä× ”ÛÛ©Ûä× ©Û¬ÛÛ ÈýÛÛ›÷ ÈÛ¤øÛÈÛ ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõà ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé 
ÅÛˆ ›÷ÈÛÛ¶Ûà Áõïõ¾Û þùÉÛÛÙÈÛÛé. 

   

  Following balances have been taken from the Trial Balance of Pragati Bank Ltd. 
as on 31-3-2013. 

Particulars ` 

Bills purchased and discounted 11,10,000

Rebate on bills discounted (1-4-2012) 18,500

Interest and discount received 1,85,000

    

  An analysis of Bills discounted shows the following information : 
   

Date of 
Drawing 

Term of 
the Bills 

Amount of the 
Bills (`) 

Rate of 
Discount 

22-01-2013 3 months 2,70,100 10% 

07-02-2013 3 months 5,40,200 9% 

09-02-2013 4 months 2,99,700 8% 
  

  Prepare Rebate on Bills Discounted Account and Interest and Discount Account 
and show the amount to be transferred to Profit and Loss Account. 
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4. …ÛÉÛÛ ÜÅÛÜ¾Û¤éø¦ø ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ÍÈÛíéÜ˜™öïõ ºõ¦ø˜ÛÛ¾ÛÛ× •Ûˆ. ©Ûé ©ÛÛÁõà”Û¶Ûä× ï×õ¸Û¶Ûà¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× 
¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©Ûä× :   14 

  

›÷ÈÛÛ¼ÛþùÛÁõà…Ûé ` Ü¾ÛÅÛïõ©ÛÛé ` 

ÉÛéÁõ¾Ûæ¦øà : ¸ÛÛ–Û¦øà 5,10,000

3,06,000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ  
` 10 ¶ÛÛé ÉÛéÁõþùà¥ø ` 7.50 ½ÛÁõ¸ÛÛˆ 

 
22,95,000

›÷¾Ûà¶Û …¶Ûé ¾ÛïõÛ¶Û 
ýÛ×ªÛÛé 

18,36,000
20,40,000

2,04,000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ 
` 10 ¶ÛÛé, ÉÛéÁõþùà¥ø ` 5 ½ÛÁõ¸ÛÛˆ 

 
10,20,000

ÁõÛéïõÛ¨ÛÛé 
Í¤øÛéïõ 

8,16,000
7,65,000

20,400 10% ¶ÛÛ ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ, 
þùÁéõïõ ` 100 ¶ÛÛé ¸ÛæÁõÛ ½ÛÁõÛýÛéÅÛÛ. 

 
20,40,000

þéùÈÛÛþùÛÁõÛé 
ÁõÛéïõ¦ø …¶Ûé ¼Ûé¶ïõ 

8,97,600
1,22,400

7% ¶ÛÛ Ü¦ø¼Ûé¶˜ÛÍÛÙ 7,65,000 ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 9,71,550

Ü¦ø¼Ûé¶˜ÛÍÛÙ¶Ûä ¼ÛÛïõà ÈýÛÛ›÷ 53,550  

©ÛÛÁõ¨ÛÈÛÛÇà ÅÛÛé¶Û  
(ÁõÛéïõÛ¨ÛÛé¶ÛÛ ©ÛÛÁõ¨Û Š¸ÛÁõ) 

 
6,12,000

 

¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø  
(Í¤øÛéïõ¶ÛÛ ©ÛÛÁõ¨Û Š¸ÛÁõ) 

 
6,32,400

 

¸ÛÁõ˜ÛæÁõ¨Û ÅÛé¨ÛþùÛÁõÛé 4,50,840  

¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø 89,760  
 79,58,550  79,58,550

 Ü¾ÛÅÛïõ©ÛÛé¶ÛÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û Œ¸ÛšýÛÛ: 

 ` 
›÷¾Ûà¶Û …¶Ûé ¾ÛïõÛ¶Û 14,28,000
ýÛ×ªÛÛé 12,64,800
Í¤øÛéïõ 6,01,800
þéùÈÛÛþùÛÁõÛé 6,34,440

  •ÛàÁõÛé ÅÛÛé¶Û¶ÛÛ ÅÛé¨ÛþùÛÁõÛé…é ÁõÛéïõÛ¨ÛÛé ` 7,65,000 ¾ÛÛ× ÈÛé˜ýÛÛ× …¶Ûé ÈÛµÛÛÁõÛ¶Ûà Áõïõ¾Û ÜÅÛÜîÈÛ¦éø¤øÁõ¶Ûé ¸ÛÁõ©Û 
ïõÁõà. 

  ̧ÛÁõ˜ÛæÁõ¨Û ÅÛé¨ÛþùÛÁõÛé¾ÛÛ× ¶Ûà˜Ûé¶Ûà Áõïõ¾ÛÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé. 
  (1) ¶ÛÜÐü ˜ÛäïõÈÛÛýÛéÅÛ ÈÛà›÷Çà ”Û˜ÛÙ¶ÛÛ ` 21,250.     
 (2) ˜ÛÛÁõ ïõÛÁõïäõ¶ÛÛé¶ÛÛé þùÁéõïõ¶ÛÛé ¾ÛÛÜÍÛïõ ` 2,040 ÅÛé”Ûé ˜ÛÛÁõ ¾ÛÛÍÛ¶ÛÛé ¶ÛÜÐü ˜ÛæïõÈÛÛýÛéÅÛ ¸Û•ÛÛÁõ. 
 (3) Áõ›Û…Ûé¶Ûä× ˜Û§éøÅÛä× ¾ÛÐéü¶Û©ÛÛ¨Ûä× ` 8,160 

 (4) ˜ÛæïõÈÛÈÛÛ¶ÛÛ ¼ÛÛïõà ¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ ÈÛéÁõÛ : 
   2011 – 12¶ÛÛ ` 6,800 

   2012 – 13¶ÛÛ ` 10,200 

  Ü¦ø¼Ûé¶˜ÛÁõ ÐüÛéÅ¦øÁõÛé¶Ûé ©ÛÛ. 31 ¾Ûà ›ä÷ÅÛÛˆ - 2013 ¶ÛÛ ÁõÛé›÷ ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈýÛÛ. 
   ÜÅÛÜîÈÛ¦éø¤øÁõ¶Ûé ©Ûé¨Ûé Ü¾ÛÅÛïõ©ÛÛé¶Ûà Š¸Û›ÛÈÛéÅÛà Áõïõ¾Û Š¸ÛÁ 1% ÅÛé”Ûé …¶Ûé ¸ÛÍÛ×þù•Ûà¶ÛÛ ÅÛé¨ÛþùÛÁõÛé 

ÍÛÜÐü©Û¶ÛÛ Ü¼Û¶Û ÍÛÅÛÛ¾Û©Û ÅÛé¨ÛþùÛÁõÛé¶Ûé ˜ÛæïõÈÛéÅÛ Áõïõ¾Û Š¸ÛÁõ 2 ¤øïõÛ ÅÛé”Ûé ¾ÛÐéü¶Û©ÛÛ¨Ûä× ˜ÛæïõÈÛÈÛÛ¶Ûä× ø™öé.  
   ÜÈÛÍÛ›÷Ù¶Û ”Û˜ÛÙ ` 53,326 ¬ÛýÛÛé. 
   ÜÅÛÜîÈÛ¦éø¤øÁõ¶Ûä× ™öéÈÛ¤ø¶Ûä× …ÛÈÛïõ-›ÛÈÛïõ¶Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé.   
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 Asha Limited went into voluntary liquidation on 31-3-2013. The Balance Sheet of the 
company on that date was as under : 

Liabilities ` Assets ` 
Share Capital : Goodwill 5,10,000
3,06,000 Equity Shares of  
` 10 each, ` 7.50 paid up.  

 
22,95,000

Land and Building 
Machinery 

18,36,000
20,40,000

2,04,000 Equity Shares of  
` 10 each, ` 5 paid up 

 
10,20,000

Investments 
Stock 

8,16,000
7,65,000

20,400 10% Preference 
Shares of ` 100 each, fully 
paid 

 
 

20,40,000

Debtors 
Cash and Bank 
Profit and Loss A/c. 

8,97,600
1,22,400
9,71,550

7% Debentures 7,65,000  
Interest outstanding on 
debentures 

53,550  

Mortgage loan  
(against investments) 

 
6,12,000

 

Bank Overdraft  
(against stock) 

 
6,32,400

 

Sundry Creditors 4,50,840  
Provident Fund 89,760  
 79,58,550  79,58,550

  

  Assets Realised: 

 ` 
Land and Building 14,28,000
Machinery 12,64,800
Stock 6,01,800
Debtors 6,34,440

  Creditors of the loan have sold the investments for ` 7,65,000 and the additional 
amount was returned to the liquidator. 

  Sundry creditors include the following : 
 (1) Electricity expenses outstanding ` 21,250. 
 (2) Unpaid Salary of four clerks for the last four months ` 2,040 per month. 
 (3) ` 8,160 to a worker for his accrued leave. 
 (4) Municipal tax to be paid : 

   For 2011 – 12 ` 6,800 

   For 2012 – 13 ` 10,200 

  The debentureholders were paid on 31st July, 2013. 
   The liquidator is entitled to a remuneration at 1% on the amount realized on 

assets by him. He is also to be paid 2% on unsecured creditors inclusive preferential 
creditors paid. 

   Liquidation expenses amounted to `53,326.  
   Prepare the Liquidator’s final statement. 

…¬ÛÈÛÛ/OR 
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 (A) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé.  7 
   Write short note on : 
   (1) ¸ÛóéºõÁõÜ¶ÉÛýÛÅÛ ÅÛé¨ÛþùÛÁõÛé 
        Preferential Creditors 
   (2) ÍÛÅÛÛ¾Û©Û ÅÛé¨ÛþùÛÁõÛé  
    Fully Secured Creditors 
 

 (B) …éïõ ï×õ¸Û¶Ûà¶Ûä× ÜÈÛÍÛ›÷Ù¶Û ¬ÛýÛä× ©ýÛÛÁéõ Ü¼Û¶ÛÍÛÅÛÛ¾Û©Û þéùÈÛä× ` 1,25,000 Ðü©Ûä×. ©Ûé Š¸ÛÁõÛ×©Û ¶Ûà˜Ûé¶ÛÛ× 
þéùÈÛÛ× ¸Û¨Û ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ Ðü©ÛÛ× :  7 
   ` 
(1) ™öéÅÅÛÛ ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ¶ÛÛ ¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ ÈÛéÁõÛ 2,500 
(2) ¼Ûé ÈÛÌÛÙ ¸ÛÐéüÅÛÛ×¶ÛÛé ÈÛé˜ÛÛ¨ÛÈÛéÁõÛé 5,000 
(3) Ü¦øÁéõî¤øÁõ¶Ûà ºõà ˜ÛæïõÈÛÈÛÛ¶Ûà ¼ÛÛïõà 3,750 
(4) ™æö¤øÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ïõÛ¾ÛþùÛÁõÛé¶Ûé Áõ›Û¶ÛÛé ™öéÅÅÛÛ× ªÛ¨Û ÈÛÌÛÙ¶ÛÛé ¸Û•ÛÛÁõ 7,500 
(5) ïõ¾ÛÙ˜ÛÛÁõà ÁõÛšýÛ ÈÛà¾ÛÛ ýÛÛé›÷¶ÛÛ Ðéü¥øÇ ™öéÅÅÛÛ× ¼Ûé ÈÛÌÛÙ¶Ûà ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ 

Áõïõ¾Û (•ÛýÛÛ ÈÛÌÛÙ¶ÛÛ  ` 2,500 + …•ÛÛŠ¶ÛÛ ÈÛÌÛÙ¶ÛÛ ` 1,500) 
4,000 

(6)  ¼Ûé ïõÛÁõïäõ¶Û¶ÛÛé ™öéÅÅÛÛ ªÛ¨Û ¾ÛÛÍÛ¶ÛÛé ¸Û•ÛÛÁõ  50,000 
Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà (…) ¸ÛóéºõÁõÜ¶ÉÛýÛÅÛ þéùÈÛÛ× …¶Ûé (¼Û) Ü¼Û¶Û ÍÛÅÛÛ¾Û©Û þéùÈÛÛ× ÉÛÛéµÛÛé. 

 

  There were unsecured liabilities of ` 1,25,000 in the books of company, when it 
was resolved to wind it up. Besides, the following were also payable. 

  ` 
(1) Municipal rates for the last Financial Year 2,500 
(2) Sales-tax payable before two years 5,000 
(3) Directors’ fees outstanding 3,750 
(4) Leave wage of last three years of employees who are relieved 7,500 
(5) Amount payable for last two years under ESIC (` 2,500 for 

previous year + ` 1,500 for year before p.y.) 
4,000 

(6)  Two Clerks’ salaries for last 3 months  50,000 
 Find out  (a) Preferential Creditors and  
   (b) Unsecured creditors.  

 

5. ¶Ûà˜Ûé¶ÛÛ ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …×•Ûé …éïõ¬Ûà ÈÛµÛä ÜÈÛïõÅ¸ÛÛé …Û¸ÛéÅÛÛ ™öé. ©Ûé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù 
ïõÁõà ÅÛ”ÛÛé. ©Û¾ÛÛÁõà •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé : 14 

 In the following sub-questions more than one answers are given. You have to select 
correct answer with necessary calculations. 

 (1) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛÁéõÁõÛÉÛ ¶ÛºõÛ¶ÛÛ ¾Ûæ¦øàïõÁõ¨Û¶ÛÛ µÛÛéÁõ¨Ûé ¸ÛÛ–Û¦øà¶Ûà Ýïõ¾Û©Û •Û¨ÛÛé :  
  (¾Ûæ¦øàïèõ©Û ¶ÛºõÛ¶Ûà Áõà©Û¬Ûà)    

  ` 
(i) µÛ×µÛÛ¶ÛÛé ÈÛÛÜÌÛÙïõ ÍÛÁéõÁõÛÉÛ ¶ÛºõÛé 38,400 
(ii) µÛ×µÛÛ¶Ûà ïäõÅÛ Ü¾ÛÅÛïõ©ÛÛé 11,20,000 
(iii) µÛ×µÛÛ¶ÛÛ ïäõÅÛ þéùÈÛÛ× 6,40,000 
(iv) …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 6% 

   (A) ` 1,60,000 (B) ` 2,88,000 
   (C) ` 6,40,000 (D) ` 1,05,600 
  Find out the value of goodwill by the method of capitalization of profit. 

  ` 
(i) Average annual profit 38,400 
(ii) Total Assets 11,20,000 
(iii) Total Liabilities 6,40,000 
(iv) Expected rate of return 6% 

   (A) ` 1,60,000 (B) ` 2,88,000 
   (C) ` 6,40,000 (D) ` 1,05,600 
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 (2) ¶ÛºõÛ¾ÛÛ× ÈÛµÛ–Û¤ø ¬Û©Ûà ÐüÛéýÛ ©ýÛÛÁéõ ¸ÛÛ–Û¦øà¶ÛÛ ¾ÛæÅýÛÛ×ïõ¶Û ÈÛ”Û©Ûé ïõýÛÛé ¶ÛºõÛé µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛýÛ ™öé ? 
  (A) ¾Ûæ¦øàïèõ©Û ¶ÛºõÛé (B) ½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ¶ÛºõÛé 
  (C) ÍÛÛþùÛé ÍÛÁéõÁõÛÉÛ ¶ÛºõÛé (D) …ÜµÛïõ ¶ÛºõÛé  
  When there is any increase or decrease in profit, then which profit is taken into 

account for calculating goodwill ? 
  (A) Capitalized profit (B) Weighted average profit 
  (C) Simple average profit (D) Super profit 
 

 (3) µÛ×µÛÛ¾ÛÛ× ›Ûé”Û¾Û¶Ûä× ¸Ûó¾ÛÛ¨Û ÈÛµÛÛÁéõ ÐüÛéýÛ ©ÛÛé ¸ÛÛ–Û¦øà 
  (A) ÍÛÛ¾ÛÛ¶ýÛ ÐüÛéýÛ. (B) …Ûé™öà ÐüÛéýÛ. 
  (C) ÈÛµÛä ÐüÛéýÛ. (D) ÉÛæ¶ýÛ ÐüÛéýÛ.  
  When risk is more in business then goodwill is 
  (A) Normal (B) Less 
  (C) More  (D) Zero 
 

 (4) ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ¾ÛæÇÝïõ¾Û©Û ` 100 ÐüÛéýÛ, …Û×©ÛÜÁõïõ Ýïõ¾Û©Û ` 236, ¼Û›ÛÁõ Ýïõ¾Û©Û ` 240 ÐüÛéýÛ …¶Ûé 
…¸ÛéÜ“Û©Û ¾ÛæÅýÛ ` 250 ÐüÛéýÛ ©ýÛÛÁéõ ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û ________ ¬ÛÛýÛ.  

  In the case when face value of Equity Share is ` 100, Intrinsic value is ` 236, 
Market value is ` 240 and Expected value is ` 250, the fair value of the share will 
be ____  

  (A) ` 238 (B) ` 218 
  (C) ` 175 (D) ` 170 
 

 (5) ˜ÛÛé””Ûà Ü¾ÛÅÛïõ©ÛÛé •Û¨Û©ÛÛ× Ü¾ÛÅÛïõ©ÛÛé¶Ûà ________ ›÷ µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛà ›Ûéˆ…é. 
  (A) ˜ÛÛé¸Û¦éø Ýïõ¾Û©Û (B) Œ¸Ûœ÷ ÉÛïéõ ©ÛéÈÛà Ýïõ¾Û©Û 
  (C) ¾ÛæÇ Ýïõ¾Û©Û (D) ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û  
  The assets should be valued at their _____ values. 
  (A) Book  (B) Realisable 
  (C) Original (D) Cost 
 

 (6) ›Ûé …éïõ ï×õ¸Û¶Ûà¶ÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û ` 450 ÐüÛéýÛ …¶Ûé ¼Û›ÛÁõ Ýïõ¾Û©Û ` 420 ÐüÛéýÛ 
©ÛÛé ©Ûé¶Ûà …Û×©ÛÜÁõïõ Ýïõ¾Û©Û _________ ÐüÉÛé. 

  If the fair value of equity share of a company is ` 450 and its market value is ` 420, 
then the intrinsic value of share is ______ 

  (A) ` 435 (B) ` 480 
  (C) ` 660 (D) ` 645 
 

 (7) ¼ÛêÝïõ•Û Áéõ•ýÛäÅÛéÉÛ¶Û …éî¤ø ¸Ûó¾ÛÛ¨Ûé þùÁõ ÈÛÌÛë ¼Ûêïéõ ¸ÛÛé©ÛÛ¶ÛÛ ¶ÛºõÛ¾ÛÛ×¬Ûà ________ ›÷é¤øÅÛà Áõïõ¾Û 
…¶ÛÛ¾Û©Û ½Û×¦øÛéÇ ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛà ›Ûéˆ…é. 

  As per Banking Regulation Act every bank has to transfer ______ of profit to 
Statutory Reserve Fund Account. 

  (A) 10%  (B) 20% 
  (C) 25%  (D) 5% 
 

 (8) ›ÛÐéüÁõ ÜÐü©Û¾ÛÛ× ÜÁõ¡öÈÛÙ ¼Ûêïéõ ÍÛæ˜ÛÈÛéÅÛÛ Í¸ÛéÜÉÛýÛÅÛ …Ûé¦øà¤ø …×•Ûé¶ÛÛé ”Û˜ÛÙ ïõÛé¨Ûé ½ÛÛé•ÛÈÛÈÛÛ¶ÛÛé ÐüÛéýÛ ™öé ? 
  (A) ½ÛÛÁõ©ÛàýÛ ÜÁõ¡öÈÛÙ ¼Ûêï (B) ¼ÛêÝïõ•Û ï×õ¸Û¶Ûà…é 
  (C) ½ÛÛÁõ©Û ÍÛÁõïõÛÁéõ (D) ÍÛé¶¤ÖøÅÛ ¼Ûêïõ …Ûéºõ ˆÜ¶¦øýÛÛ…é  
  The expenses of special audit suggested by Reserve Bank in public interest will be 

borne by ______. 
  (A) Reserve Bank of India (B) Banking Company itself 
  (C) Government of India (D) Central Bank of India 
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 (9) ÈÛ¤øÛÈÛéÅÛà Ðæ×ü¦øà…Ûé¶ÛÛ ÈÛÇ©ÛÁõ¶Ûà ÉÛÄõ…Û©Û¶Ûà ¼ÛÛïõà 
  (A) ›÷¾ÛÛ ¼ÛÛïõà ÐüÛéýÛ ™öé. (B) ŠµÛÛÁõ ¼ÛÛïõà ÐüÛéýÛ ™öé. 
  (C) ›÷¾ÛÛ ïéõ ŠµÛÛÁõ ïõÛéˆ¸Û¨Û ÐüÛéˆ ÉÛïéõ. (D) Š¸ÛÁõ¶ÛÛ ªÛ¨ÛéýÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  
  The opening balance of Rebate on bills discounted account is 
  (A) Credit Balance (B) Debit Balance 
  (C) Either Debit or Credit (D) None of above three 
 

 (10) ›Ûé ï×õ¸Û¶Ûà ÍÈÛíéÜ˜™öïõ ÜÈÛÍÛ›÷Ù¶Û ïõÁõÈÛÛ¶ÛÛé ”ÛÛÍÛ ¥øÁõÛÈÛ ïõÁéõ ©ýÛÛÁéõ ÍÈÛíéÜ˜™öïõ ÜÈÛÍÛ›÷Ù¶Û¶ÛÛé Ü¶Û¨ÛÙýÛ ïõýÛÛÙ 
¸Û™öà ¥øÁõÛÈÛ ¸ÛÍÛÛÁõ ¬ÛÈÛÛ¶ÛÛ ïéõ¤øÅÛÛ ÜþùÈÛÍÛ¾ÛÛ× ¶ÛÛéÜ¤øÍÛ …Û¸ÛÈÛà ›Ûéˆ…é ? 

  (A) 5 ÜþùÈÛÍÛ (B) 10 ÜþùÈÛÍÛ 
  (C) 14 ÜþùÈÛÍÛ (D) 30 ÜþùÈÛÍÛ  
  How many days notice is to be given when a company has passed resolution for 

voluntary winding up ? 
  (A) 5 days (B) 10 days 
  (C) 14 days (D) 30 days 
 

 (11) ¶Ûà˜Ûé¶ÛÛ× ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ™öé ? 
  (A) ÜÅÛÜîÈÛ¦éø¤øÁõ¶Ûä× ÜÐüÍÛÛ¼Ûà ¸ÛªÛïõ …é ºõî©Û ÁõÛéïõ¦ø ”ÛÛ©Ûä× ™öé. 
  (B) ÜÅÛÜîÈÛ¦éø¤øÁõ¶Ûä× ÜÐüÍÛÛ¼Ûà ¸ÛªÛïõ …é ºõî©Û ”ÛÛ©ÛÛÈÛÐüà ™öé. 
  (C) ÜÅÛÜîÈÛ¤éø¦øÁõ¶Ûä× ÜÐüÍÛÛ¼Ûà ¸ÛªÛïõ …é ºõî©Û ÁõÛé›÷¾ÛéÇ ™öé. 
  (D) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü  
  Which of the following statement is correct ? 
  (A) The liquidator’s statement is a Cash Account only 
  (B) The liquidator’s statement is a Ledger Account only 
  (C) The liquidator’s statement is a Rojmel. 
  (D) None of the above 
 

 (12) Ü¦ø¼Ûé¶˜ÛÁõ ÐüÛéÅ¦øÍÛÙ¶Ûé ˜ÛæïõÈýÛÛ ¸Û™öà ÜÅÛÜîÈÛ¦éø¤øÁõ ¸ÛÛÍÛé ` 1,26,990¶Ûà ÁõÛéïõ¦ø ÜÍÛÅÛïõ ™öé. 
Ü¼Û¶ÛÍÛÅÛÛ¾Û©Û ÅÛé¨ÛþùÛÁõÛé¶Ûé ˜ÛæïõÈÛÈÛÛ¶Ûà Áõïõ¾Û Š¸ÛÁõ ÜÅÛÜîÈÛ¦éø¤øÁõ¶Ûé 2% ¾ÛÐéü¶Û©ÛÛ¨Ûä× …Û¸ÛÈÛÛ¶Ûä× ™öé. 
Ü¼Û¶Û ÍÛÅÛÛ¾Û©Û ÅÛé¨ÛþùÛÁõÛé¶Ûé ¾ÛÇÈÛÛ¸ÛÛªÛ Áõïõ¾Û ïéõ¤øÅÛà ÐüÉÛé ? 

  The liquidator has a cash balance of ` 1,26,990 after paying to Debenture holders. 
2% remuneration is payable to liquidator on the amount paid to unsecured 
creditors. How much amount would be receivable by unsecured creditors ? 

  (A) ` 1,24,500 (B) ` 1,26,000 
  (C) ` 2,490 (D) ` 1,24,450.20 
 

 (13) ÜÅÛÜîÈÛ¦éø¤øÁõ ï×õ¸Û¶Ûà ÈÛ©Ûà ¾ÛÇéÅÛÛ ¶ÛÛ¨ÛÛ× ` 500 ¬Ûà ÈÛµÛä ÐüÛéýÛ ©ÛÛé ________ ¬Ûà ÈÛµÛä ÍÛ¾ÛýÛ ¾ÛÛ¤éø 
ÁõÛ”Ûà ÉÛïéõ ¶ÛÜÐü. 

  (A) 100 ÜþùÈÛÍÛÛé (B) 10 ÜþùÈÛÍÛÛé 
  (C) 5 ÜþùÈÛÍÛÛé (D) 30 ÜþùÈÛÍÛÛé  
  A liquidator cannot keep the sum received on behalf of the company more than  

` 500 for more than _________ . 
  (A) 100 days (B) 10 days 
  (C) 5 days (D) 30 days 
 

 (14) ï×õ¸Û¶Ûà¶ÛÛ ÜÈÛÍÛ›÷Ù¶Û ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõÛé¨Û …Áõœ÷ ¶Û ïõÁõà ÉÛïéõ ? 
  (A) ï×õ¸Û¶Ûà ¸ÛÛé©Ûé (B) ÅÛé¨ÛþùÛÁõ 
  (C) ÜÐüÍÍÛéþùÛÁõ (D) þéùÈÛÛþùÛÁõ  
  From the following, who cannot file the application for winding up the company ? 
  (A) Company itself (B) Creditors 
  (C) Stackholders  (D) Debtors 

__________ 


